


Modulation Val

ves

\ T \ é
| | ® © =
= =. | E 2, E 5 |E5%8 §o. Ex | E N - LT :\,[5 £
£% 6% Ee% 26 Zef |29 €F Z2: is RS $ % =% | 454 ‘E": 538 %
AR ELAE AR LR A FE R IR E R Adjustmen LA G APE SR £ F b
Type g% (2% 277 2§% 273 254 3°° 38 &7 1z 15m POTE RS ERE SR ENEE
'V A V|V W | W [mAmm| mm V mA, V V W W W
L.F. class A ampl. 1000 77 | — 80 80 0 — 22
M(C LF. class B ampl.’) | 1000 312 --100| 180 3 — 119
1 100/ 11 /1000 | — 75 | —— |175| 51 183.5| Telegr. class C?) 1000 | 157 —260| 360 | 45 B4
/ 50 ; Telegr. class B ?) 1000 | 102 —105| 110 ' 5 — 29
f An. mod. class C?3) 1000 125 —-240| 330 38 | 63 80
:
1 |
MC |
1 L.F. class A ampl. 1000 | 77.5 | —64 64 0 - 22-3
40 33/1000 — 75 | — |200| 51 | 200
1 / 50 | | ° LF. class B ampl.’) 1000 312 ' --80 | 140 | 37 | — 204
L.F. class A ampl. 10600 | 1160 — 475 475 0| — | 2700
MA ‘ L.F. class B ampl.1)  |12000| 5340 — 700 1600 | 900 = — | 42000
12 21:5| 79 [12000 — 15000 —  — | 226 811 Telegr. class C 12000 | 2500 1000, 2200 | 825 | - | 20000
15 ! | Teleph. class B 12000 | 1500 — 7000 780 | 250 | — | 4500
} An. mod. class C 10000 | 1400 —1350 2600 | 1300 | 7 | 9500
\
|
L]
Triodes
£y %% | B Ee |E.E|ETE |Bsz Br| B . NI PRS- YN B [ B FC
5% % |Seh| 20 | eS| 2w |EYE|E8| 2% £H | <5 -.S;E <24 | ¥ E5E8| %
ype EFES|E°° E§> A Sg%’ EERIRE == > 15m > 2 .Eb\’.’/ A‘:En& a2 ] \E,_é"‘
VIA| V|V | W | W mA mmn mm V ma| V| V| W, W/ |Ww
TB Tgr.classC/ - 110em | 400 | 80 | — | — | — | — | 12
04 2:0 365 450 | — | 30 | — |92 |68 | 77 Tgr. class C 2 = 80em | 400 | 80 | — | — | — | — 9
/ 8 Tgr.class € ) == 60 cn | 400 | 80 | — . 5
TC Telegr. class C?3) 500 | 50 —50 | 110 | 083 | — |15
04 461150 | — 10 | — |60 | 57 | 157 Teleph. class B *) 500 (26 | —=20| 40 |10 | — | 40
/ 10 An. mod. class C?) 500 | 335 | —50 | 100 | 06 | 8.4 | 10
TE Telegr. class C1) 500 | 110 | —65 | 140 | 35 | — |31
05 630950 | — 12 | — 80|47 | 118 Teleph. class B 1) 500 | 63 —23 40 | 18 | — | 75
/ 10 An. mod. class C1) 450 90 | —70 | 135 | 32 20 | 225




Triodes (continued)

!
sy 2. |E . 8%, 5 ETE (.. Ex | E AU - PN IS PN S B
$p BT | Zeb BB |24 |ZPE fEY E1| B% % | $3 oS% 1424 By FiEg ¢
ype £ B g°F 2% 2 2554 2% 2% s 2=15m > g .EDE, ﬁ-EDE, =9 = é,_é'
V A/ V]V ] W W mAom mm V mA | V| V][WIW]|W
1C : ; Telegr. class C3) 600 | 93 |—170| 300 | 32 | — | 35
05 40 22| 600 | — | 40 — 100 60 | 173 Teleph. class B ?) 600 | 74 -— 60| 100 | 36 | — | 11
/ 25 | An. mod. class C3) 600 | 95 |—170| 300 | 35 | 29 | 35
1B Telegr. class C 1250 | 200 | —225| 385 | 15 | — | 145
1 75 (3251000 — | 50 | — |120| 72 | 173 Teleph. class B 1250 | 113 |—120| 145 | 20 | — | 39
/ 60 An. mod. class C 1000 | 184 |—320| 450 | 20 | 92 | 114
TC Telegr. class C ?) 1500 | 123 |—160| 240 | 29 | — | 115
1 1000 16 | 1500 | — | 75 | — |200| 51 | 201 Teleph. class B %) 1500 | 65 — 55 60 | 18 | — | 30
/ 75 An. mod. class C3) 1250 115 | —140| 210 | 30 | 72 | 93
TB Telegr. class C 2000 | 190 |—150 | 280 7 — | 275
2 12:0| 27 | 2000 | — 130 — 1250 55 | 174 Teleph. class B 2000 95 |— 60| 80 4 — 60
/ 200 An. mod. class C 1600 | 135 |—200| 330 | 11'5 | 108 | 160
"'B ‘ Telegr. class C ’ 2000 | 410 |--120| 275 |20 — | 550
9 12:0| 7-3 | 2000 | — | 300 | — |600| 86 | 243 Teleph. class B 2000 | 205 |— 55| 90 | 63 & — | 115
/ 500 An. mod. class C 1800 | 300 | 160 | 320 |23 | 270 | 375
f
'I'B Telegr. class C 3000 | 550 |—200| 400 | 20 | — | 1200
3 120/ 9 (3000 — | 500 | — |700 106 | 262 Telepb. class B 3000 | 220 |— 90| 127 | 20 | — | 200
/1000 An. mod. class € 2500 | 400 |—250 | 500 40 500 675
TB Telegr. class C?3) 3500 | 1140 | —200| 400 | 40 — 2900
L3 120| 17 | 3500 — 1100 | — |1400 154 | 334 Teleph. class B ®) 3500 | 485 — 95| 125 | 18 | — | 600
; / 2000 An. mod. class C?) 3000 | 725 |—300| 550 90 |109.0 | 1625
j
i
h
| TAL Telegr. class C 10000 | 1450 —600| 1050 | 275 | — 10500
‘ |
|12 22:0 2x39/12000 - 4000 | — | — |194| 546 Teleph. class B 16000 | 1000 | —190| 315 220 | — | 2000
; / 10 } An. mod. class C 8000 | 1000 —700 | 1150 | 375 | 4000 | 6000
H




Triodes (continued)

1 i 1 N
2o |%a  E EE, E E EEE BEo. By E ‘ e oba| o 8 B3
£% 5% |S8% | 208 | fef 202 |5¥8 22 22 $% 8% | 24 28d | ¥ £:38 3
tee G5 EE FEEIEDE GEI frEiifii iR Adjusiment FENE TR IPC ST
YR EFIES 277 257 124 5L E°%0 88 27 2Z15m TR EFT R gy °
1} | V-=
| |
V] Al v V | W [ W [mA mm mm V mA| V V| W W W
| 1
T Aw Telegr. class C 10000 1700 | —600 | 1070 | 300 — 12000
12 22:0 2x39/12000, — 7500 | — | — |194 | 495 | Teleph. class B 10000 1000 | —360, 245 | 170 . — 3300
/ 10 ! An. mod. class C 8000 1000 | —750 1150 | 375 | 4000 6000
|
TA Telegr. class C 12000 | 2700 |—600 1800 | 720 | — |22000
12 21'5| 79 |12000| - (18000, — | — | 2261 811 | Teleph. class B 12000 | 1540 |—200 | 435 210 | — | 5000
/ 20 An. mod. class C 10000 | 1400 | —900 ;| 2100 | 1050 | 7000 | 9500
|
TA ‘ Telegr. class C 15000 | 4000 |—900 1550 =700 | -- |42000
49-03x50/15000 | — 18000 — | — |226| 684 | Teleph. class B 15000 | 1750 |—500| 500 300 = — | 8500
12 ! | P
35 ‘ An. mod. class C 112000 | 3000 —1000, 1650 | 910 | 18000 | 26000
! !
\ Telegr. class C3 20000 | 9000 —900 | 2100 | 3400 — 130000
| g
33:0 | 207 20000, — 70000, — | — 330 | 1333 | Teleph. class B ) 120000 | 4300 | —250 | 600 | 3000 | — | 31000
18 P )
100 An. mod. class C?) 12000 | 4500 |—600 1300 | 2900 27000 | 38000
!
‘ |
TA | Telegr. class C?) 120000 | 16500 |-—900 | 2400 {10000 — (250000
20 35-0| 420 |20000, — 130000 — | — | 330 1393 | Teleph. class B ) tzoooo 9300 —300 870 | 7300 -—— | 60000
/ 250 | An. mod. class C?) 12000 8500 —900 2100 = 3400 51000 65000
|
L
Double Tetrode
I N
2. 0l2a | E. B, |8 & EEE |Howo|Ex| E . . B | g B ~ §. 8= |
HTRHEIR LR tEIE FINE FRE R Pl 11 I
._:— '%I- PR ng—' - ,2.5 ] ;q‘ £ Adj ° a & = ] i =
Type ‘hg hE 5"3 §E§ é‘“:é ggé QSe é‘s §° ljustment <3 <2 :En\u/ s:gog as féaégﬁ =]
AV | V| W W mA mn| mm V mA| V V W W W
| |
t |
QQE Tgr.classCAi =25 m| 400 | 90 | —60 | — | —  — 235
04 63|08 400 | 250 | 75 | 25 | 60 | 59 | 88 | Tgr.classC/—175m | 400 |88 60| — —  —  21'
/ 20 . Tgr.classCi-=1 m . 360 | 675  —60 | — e — 11




ento

\ ] ~
fe To B.o BF. 8.5 ELE fe. Ep | E B INET Y <
S 5% | Zsb EGG | fef | %S 3¢p i 5= $h | 35 |24 | <S4 FL SpEs| ¢
..’E."é EE E.EE% 'E§;:n 'EE';‘,' 'Eg%‘ 'gég EE E? Adjustment .E% Eg :g% .{a‘gé ] '55,5: '2‘
Type Z2 |22 29°8 5;’ £°2 | 254 2°° 88| 27 1=15m Bl S TgZlEgE A FREE °
~e
VA V|V W W mAmm mm V mA V.V W W W
‘ !
PE ! | [ Telegr. class € 500 50 —50 65 033 — 15
04 12:0 065 600 300 10 3.0 85 53 | 133 | Teleph. class B 50 26 —15 10 01  — | 4.0
/ 10 An. mod. class C 500 10  —50 60 0.2 4.0 5.0
L
PC Telegr. class C 500 | 65 |-—150| 210 | 0.4 — 120
05 40 11| 500 300 15 5 8 | 53 | 149 Teleph. class B 500 30 |—110| 75 @ 0.15 - 4.0
/ 15 ‘ An. mod. class C 500 32 | —150 220 ; 0.6 8.0 9.5
1 i
1 |
PE Telegr. class C 500 | 58 150, 180 0.9 — |14
05 12:0(0-37| 500 | 300 | 15 | 5 | 85 51 | 150 | Teleph. class B — = = = =] =] =
/ 15 An. mod. class C 500 | 22 |—160 180 | 0.7 | 5.5 7.0
PE ] ! Telegr. class C 600 | 109 | —75, 90 @ 0.2 45
63 13 600 | 300 25 5 130 51 | 134 Teleph. class B 600 60 | —40 | 20 0 — 11
06 ! ' P ) :
40 An. mod. class C — — — - | - — -
\
|
- \
PE Telegr. class C 1000 | 120  -170| 250 ‘ 1.5 | — 85
1 12:0| 09 | 1000 | 500 35 6 160 | 64 159 Teleph. class B 1000 48 |— 80| 60 ‘ 0.3 — 13
/ 80 An. mod. class C 1000 | 40 |—170| 200 09 20 26
PC Telegr. class C 1500 | 130 | —200| 300 0.6 | — | 140
15 10-0 | 2-0 | 1500 | 500 85 25 1200 66 252 Teleph. class B 1500 78 |—100| 80 & 0.8 — 34
/ 100 An. mod. class C 1500 76 |—200 275 | 1.65 57 | 73
i
|
PB ‘ Telegr. class C 2000 | 195 |—150| 270 | 2 — | 280
2 12:0 13:35| 2000 @ 350 @ 110 25 1285 55 168 Teleph. class B 1500 98 |— 44| 65 | 05 — 37
/ 200 ‘ An. mod. class C 1800 | 100 |—150| 245 1.8 90 125




todes (continued)

i 1
‘ \ © o Pl
- .. = 5= |z £ l=EE g Ew | 8 B GBa o |5 85
Sp BT Zgy iG5| Ees B9 i43[iF i 28 | 2% |o2% <424 FL Zs38 %
yPe 2 E° Z5F Zg- 278 | deg 288 28 2 1= 15m N EASEE-C A EF
j 1
Y AV 1 W W mA|mm| mm \ mA A\ \ W W
PB 1 \ Telegr. class C 2500 | 340 | —150| 270 | 54 — | 600
2 12:0 7-3 | 2500 500 250 | 60 | 600 | 86 @ 271 Teleph. class B 2000 | 170 |— 50 60 | 07 | — | 90
/ 500 | An. miod. class C 2000 | 215 |—150 300 [105 & — | 300
PB Telegr. class C3) 3000 | 550 —200| 370 15 — | 1200
3 12:0 85 | 3000 606 450 | 100 700 | 106 | 293 Teleph. class B3) 3000 | 215 |-—120 80 | 07 | — | 190
/ 800 w An. mod. class C?) 2500 | 225 [--300 400 | 6 285 | 400
| e S — - S
P AL } ’ | 1 Telegr. class C?) 12000 | 1900 | —509| 1000 | 180 | —- |14800
22:0 80 |12000 2000 3000 1560 — 316 609 Teleph. class B3 12000 | 1000 | —400| 350 45 | — | 4000
12 1 | |
15 An. mod. class C 8000 | 1200 —-500| 1000 | 240 | 4800 | 5800
P Aw Telegr. class C?) 12000 | 2750 —-500 | 1050 | 210 | — |21000
22:0 80 12000 2000 12000 1500 — | 245 614 Teleph. class. B %) 12000 | 1120 —400| 360 | 54 | — | 4600
12 | |
/15 \ 1 An. med. class C 8000 | 1200 | —500 | 1000 | 240 | 4800 | 5800
] L]
Rectifying Valves
| [ Three-phase circuit
I o~ | ) )
s,  m. EE. g2, | g2, £ | gf¥ ~ gy g - T e N
Type 23 2% o R iose | Es+ S E i3 i3 fe5. | 8F0 SEL £
p 2 [l =g =5 =3 E =EEL N =8 = éugs dgg sE§ 3
i s e AE AE
v A kv mA kY A v mm mm kV kV A kW
DC ! / 60 22 | 4 28 |2 %305 2x1 — — 635 | 175 — — — -
|
DE ? 40 4 5 a5 | 2wz 95 176 — — — —
200 | “ | |
2 ; |
DCG / 500 | 20 45 63 259 — 1.0 13 48 126 255 30 075 2:25
|
4 . . .
DCG 1000| 2° L 10 250 — 1.0 16 49.5 147 4.1 48 075 36
|
DCG> / 5000 50 | 67 12 1250 — 5.0 16 56 229 4.9 5:8 375 | 2175
| |
6 1 1
. - 5.3 . . 18:75
DCG 6000 50 | 6 13 1000 4.0 } 15 80 252 5 6:25 30
DCG 12 / 30 50| 14 27'5 2500 — 10 11 120 381 11.2 13-2 75 99
DCG ° / 30 | 0 313 6000 — 25 16 220 581 5.35 625 18 112:5
\ |
') 2 valves. For H.F. adjustments: 1 = 5 m 3) 2 = 1580 m

2) For H.F, class B teleph. in the modulation peak at 100%, modulation.
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